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Standard/Radial? 2 A - _

B® | 7U-h [ 9721 t—WNo | E1L—R | #rob | B2L—A | #iqb | E3L—R | #4b | AFF/ | BERR
T BE STD 196484 1 1 6 6 9 9 16 1
2 |74 HAE | STD &L DNC 23 2 2 1 1 26 2
3 (X InE | STD 109377 DNC 23 1 1 6 6 30 3
4 |5 iEE STD 199069 DNC 23 5 5 2 2 30 4
5 | H N #AE | STD 198855 DNC 23 4 4 5 5 32 5
6 |7—/IVK |iBE STD 207075 0CS 23 3 3 7 7 33 6
7 | XX P 3 STD 172270 0CS 23 8 8 4 4 35 7
8 |igH HARE | STD 207993 ocs 23 13 13 3 3 39 8
9 |R iTO® | RAD a9 2 2 22 22 18 18 42 9
10| INE | RAD 201484 0CSs 23 10 10 10 10 43 10
1 |{EH HAE | STD 215099 DNC 23 15 15 8 8 46 11
12| R IOB | RAD 207418 DNC 23 11 11 12 12 46 12
13| 1lURm HAREE | RAD 167322 DNC 23 12 12 13 13 48 13
1413k} B2 STD 184057 0CSs 23 14 14 14 14 51 14
1515 H iIHE | STD 205101 0CSs 23 7 7l  oOCS 23 53 15
16| EH dI0OE | RAD 181193 0CS 23 20 20 11 11 54 16
17|38 HARE | STD 212013 0CS 23 g 9 0CS 23 55 17
I HAE | STD 159107 DNC 23 16 16 16 16 55 18
19 |3@ HAE | STD 156025 DNC 23 19 19 15 15 57 19
20| HEE INE | RAD 161281 0CS 23 18 18 17 17 58 20
21| AB=  |IOBR | RAD &L DNC 23 17 17 19 19 59 21
22| KBR Ins | RAD 156030 0Cs 23 21 21 20 20 64 22
Rr 220° 190° 160° L-AZBAER M
R 2-3m/s 2-3m/s 1-3m/s EE =H
Standard /Radial =11

A5—hEEZ 11:27 12:48 13:30
4= 1653 12:08 13:15 14:02
J4=v 12:20 13:23 14:15 S D



